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({88, AFAH, kg)
Hi1[a] I £ B8 3t
B | AmER | molmM | BEEE | BEME | TOEE [ TORE| ToaS| kepm | Do pon |

I 148 146 605,000 168,300 487,047 285 286 1,708 493,698 -6,651

=8 161 161 974,600 154,000 ] 619,532 ] 314 282 1,976 617,322 2,210

&5t 309 307 556,077 | 300 284 1,854 557,658 -1,581

¥ XEY)HE#EH SM7F48168 (k)

@& AR Y RS (HRrEE R LG 1048)
_ _ (A58, M. B, ke) _ _ _ (A58, M. B, ke)

TERI |reiear B THAD | Fhke | Fhme |[HDak kelil |mak] [El [EET B TEAD | PHRS] PO HDIER [kebfll_[miBit
B2 23 282 293 512,122 1.04 1,748 ] 105.1% s 19 282 315 | 666,484 1.12 2,118 | 107.6%
EHEE 19 287 281 473,753 0.98 1,687 | 97.3% XEESE 15 280 311 [ 639,173 1.11 2,056 | 103.2%
HER 14 286 285 497,357 1.00 1,744 1102.1% EHEE 15 281 316 | 610,280 1.12 1,931 | 98.5%
BAZE 12 288 281 477,950 0.97 1,703 | 98.1% HER 15 283 331 [ 675,547 1.17 2,041 | 109.0%

m B2 IE 10 290 309 489,280 1.07 1,583 ] 100.5% £ B2 13 275 323 [ 691,138 1.18 2,138 | 111.6%
EEhsE 9 290 277 476,422 0.95 1,721 ] 97.8% BHEE 10 291 312 | 605,440 1.07 1,938 | 97.7%
HEEFH12 7 286 251 381,543 0.88 1519 ] 78.3% EER 8 286 318 [ 610,225 1.11 1,918 | 98.5%
SR 5 291 306 486,640 1.05 1,588 | 99.9% EHF12 7 276 291 | 511,814 1.05 1,757 | 82.6%
EEA 5 300 320 528,000 1.07 1,651 ] 108.4% iLZ1E 6 288 319 [ 590,150 1.11 1,852 | 95.3%
SEAC 2 297 293 501,050 0.99 1,710 ] 102.9% EEA 5 287 316 | 604,560 1.10 1,913 | 97.6%

@FE 4 A2 Y AR (B YUMAE L1 0%E)
_ (Bifi:38. M. B.kg) _ _ _ (BfI:88. M. BH.kg)

EZHER BOR FOMAR HS *=E fiit%  |BHHIBE [kgBif EZHER [STOEN [STOYEER HS r=E fit%  |[BFIEE | kel
EEA  |BZE 55 272 298 605,000 1.10 2,030 SEHK EEH REA 294 352 974,600 1.20 2,769
FEE B R SE RiE2165M9 291 298 599,500 1.02 2,012 BZIE REA R 294 370 942,700 1.26 2,548
bEEA  |ERAER TEA 269 328 590,700 1.22 1,801 Bz =8 REA 298 382 937,200 1.28 2453
45 XERS &% 293 341 588,500 1.16 1,726 B2 REA B 310 345 888,800 1.11 2576

it HMEA HEK SRR 324 278 587,400 086 | 2113 £z B2IE TRA s 263 380 847,000 1.44 2,229
B2E EXERE |FEB 294 334 586,300 1.14 1,755 ez E EEM 58E2 294 356 796,400 1.21 2,237
i =053 TEA 252 322 584,100 1.28 1814 XEEFE = REA 294 385 782,100 1.31 2,031
EHEE =053 TEA 280 338 584,100 1.21 1,728 BzE BE% TEA 282 320 775,500 1.13 2423
B BEEE2 |E% 263 323 581,900 1.23 1,802 HER EEB EERSE 279 353 757,900 1.27 2,147
EE=h) XERE |BEBT 294 340 579,700 116 [ 1705 XEEF B2l REA 302 333 751,300 1.10 2,256




